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ĸŚōśōŖŜ��ĥ�#ď��@"9!���īŗŖŜőŖŝŗŝś�ĥ��ĉ5D!?L5�

ĶōŏŉŜőŞō�ļōŖśō

I

You
We
ļŐōš

ŋŗŗœőŖŏŴ
śŘōŉœőŖŏŴ
şŗŚœőŖŏŴ

ŉŕ�ŖŗŜ

ŉŚō�ŖŗŜ

ŚŝŖŖőŖŏŴ

He
ĻŐō
It
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aŴ�Ŗŗş�ŵ�ŚőŏŐŜ�Ŗŗş��Ů�5!!=Mů
bŴ�ŉŜ�ŜŐō�ŕŗŕōŖŜ��Ů�5!!=Mů
cŴ�ŋŝŚŚōŖŜŔš�Ů�5!!=Mů

�;�=L&"D3K!"ĉ5*G!#+8F*��ĸŚōśōŖŜ�īŗŖŜőŖŝŗŝś�ĶōŏŉŜőŞō�ļōŖśō

Ŀō�ŉŚō�ŖŗŜ�ŔőśŜōŖőŖŏ�ŚőŏŐŜ�ŖŗşŴ

ıŜ�őś�ŖŗŜ�ŕŗŞőŖŏ�ŉŜ�ŜŐō�ŕŗŕōŖŜŴ
ĻŐō�őś�ŖŗŜ�ŋŝŚŚōŖŜŔš�ŔōŉŚŖőŖŏ�īŐőŖōśōŴ

śōōőŖŏŴ
ŌŉŖŋőŖŏŴ
ŌŚŉşőŖŏŴ

is not

is ŵ ŉŕ ŵ ŉŚō not ŴaőŖŏ
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He is not watching TV. I am not eating
French fries.
I am not eatting
French fries.

He is not watcing TV.

They are not bakeing
cookies.

Amy is not painting
ŉ�ġŐŗŝśōŴ
Amy is not painting
ŉ�ġŐŗŝśōŴ

They are not baking
cookies.
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Choose the correct answer
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Jame is not wearing
the boots.
Jame is not wearring
the boots.

Ŀō�ŉŚō�ŖŗŜ�ŔőŎĠŜŜőŖŏ
the bottles.
We are not lifting
the bottles.

They are not holdding
ŜŐō�ŋŝŘŋŉœōśŴ

Rose is not washing
the bowls.
Rose is not wasing
the bowls.

They are not holding
ŜŐō�ŋŝŘŋŉœōśŴ
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I          �ŮŔőśŜōŖů�Ŝŗ�ŕŝśőŋŴ
ŉŕ�ŖŗŜ�ŔőśŜōŖőŖŏ őś�ŖŗŜ�ŔőśŜōŖőŖŏ

ĻŐō�         �ŮşŉŜŋŐů�ŉ�ŕŗŞőōŴ
őś�ŖŗŜ�şŉŜŋŐőŖŏ ŉŕ�ŖŗŜ�şŉŜŋŐőŖŏ

ŉŚō�ŖŗŜ�śŘōŉœőŖŏ őś�ŖŗŜ�śŘōŉœőŖŏ

He           ŮśŘōŉœů�ĭŖŏŔőśŐ�ŖŗşŴ

ĩ�ŕŉŖ         ��ŮşŚőŜōů�ŉŖ�ōŕŉőŔŴ
őś�ŖŗŜ�şŚőŜőŖŏ ŉŕ�ŖŗŜ�şŚőŜőŖŏ

őś�ŖŗŜ�śőŖŏőŖŏ

ĩ�ŏőŚŔ�����������ŮśőŖŏů�ŉ�śŗŖŏŴ
ŉŚō�ŖŗŜ�śőŖŏőŖŏ
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I          �ŮśŜŝŌšů�ĵŉŜŐ�ŉŜ�śŋŐŗŗŔŴ
ŉŕ�ŖŗŜ�śŜŝŌšőŖŏ őś�ŖŗŜ�śŜŝŌšőŖŏ

ĴŝŖŉ�         �ŮŒŝŕŘů�ŗŖ�ŜŐō�śŗŎŉŴ
ŉŚō�ŖŗŜ�ŒŝŕŘőŖŏ őś�ŖŗŜ�ŒŝŕŘőŖŏ

ŉŚō�ŖŗŜ�ŘŔŉšőŖŏ ŉŕ�ŖŗŜ�ŘŔŉšőŖŏ

Ŀō�����������ŮŘŔŉšů�ŏŉŕōśŴ

ĳŉŜō�����������ŮŌŚőŖœů�ŕőŔœŴ
őś�ŖŗŜ�ŌŚőŖœőŖŏ ŉŕ�ŖŗŜ�ŌŚőŖœőŖŏ

ŉŚō�ŖŗŜ�ŌŚŉşőŖŏ

ļŐō�śŜŝŌōŖŜś�����������ŮŌŚŉşů�őŖ�ŋŔŉśśŴ
őś�ŖŗŜ�ŌŚŉşőŖŏ
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İō�őś�ŖŗŜ�şŉŜŋŐőŖŏ�ļľŴ ı�ŉŕ�ŖŗŜ�ōŉŜőŖŏ
ĮŚōŖŋŐ�ŎŚőōśŴ
ı�ŉŕ�ŖŗŜ�ōŉŜŜőŖŏ
ĮŚōŖŋŐ�ŎŚőōśŴ

İō�őś�ŖŗŜ�şŉŜŋőŖŏ�ļľŴ

ļŐōš�ŉŚō�ŖŗŜ�ŊŉœōőŖŏ
ŋŗŗœőōśŴ

ĩŕš�őś�ŖŗŜ�ŘŉőŖŜőŖŏ
ŉ�ġŐŗŝśōŴ
ĩŕš�őś�ŖŗŜ�ŘŉőŖŜőŖŏ
ŉ�ġŐŗŝśōŴ

ļŐōš�ŉŚō�ŖŗŜ�ŊŉœőŖŏ
ŋŗŗœőōśŴ
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Ĳŉŕō�őś�ŖŗŜ�şōŉŚőŖŏ
ŜŐō�ŊŗŗŜśŴ
Ĳŉŕō�őś�ŖŗŜ�şōŉŚŚőŖŏ
ŜŐō�ŊŗŗŜśŴ

Ŀō�ŉŚō�ŖŗŜ�ŔőŎĠŜŜőŖŏ
ŜŐō�ŊŗŜŜŔōśŴ
Ŀō�ŉŚō�ŖŗŜ�ŔőŎŜőŖŏ
ŜŐō�ŊŗŜŜŔōśŴ

ļŐōš�ŉŚō�ŖŗŜ�ŐŗŔŌŌőŖŏ
ŜŐō�ŋŝŘŋŉœōśŴ

ĺŗśō�őś�ŖŗŜ�şŉśŐőŖŏ
ŜŐō�ŊŗşŔśŴ
ĺŗśō�őś�ŖŗŜ�şŉśőŖŏ
ŜŐō�ŊŗşŔśŴ

ļŐōš�ŉŚō�ŖŗŜ�ŐŗŔŌőŖŏ
ŜŐō�ŋŝŘŋŉœōśŴ
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I          �ŮŔőśŜōŖů�Ŝŗ�ŕŝśőŋŴ
ŉŕ�ŖŗŜ�ŔőśŜōŖőŖŏ őś�ŖŗŜ�ŔőśŜōŖőŖŏ

ĻŐō�         �ŮşŉŜŋŐů�ŉ�ŕŗŞőōŴ
őś�ŖŗŜ�şŉŜŋŐőŖŏ ŉŕ�ŖŗŜ�şŉŜŋŐőŖŏ

ŉŚō�ŖŗŜ�śŘōŉœőŖŏ őś�ŖŗŜ�śŘōŉœőŖŏ

He           ŮśŘōŉœů�ĭŖŏŔőśŐ�ŖŗşŴ

ĩ�ŕŉŖ         ��ŮşŚőŜōů�ŉŖ�ōŕŉőŔŴ
őś�ŖŗŜ�şŚőŜőŖŏ ŉŕ�ŖŗŜ�şŚőŜőŖŏ

őś�ŖŗŜ�śőŖŏőŖŏ

ĩ�ŏőŚŔ�����������ŮśőŖŏů�ŉ�śŗŖŏŴ
ŉŚō�ŖŗŜ�śőŖŏőŖŏ
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I          �ŮśŜŝŌšů�ĵŉŜŐ�ŉŜ�śŋŐŗŗŔŴ
ŉŕ�ŖŗŜ�śŜŝŌšőŖŏ őś�ŖŗŜ�śŜŝŌšőŖŏ

ĴŝŖŉ�         �ŮŒŝŕŘů�ŗŖ�ŜŐō�śŗŎŉŴ
ŉŚō�ŖŗŜ�ŒŝŕŘőŖŏ őś�ŖŗŜ�ŒŝŕŘőŖŏ

ŉŚō�ŖŗŜ�ŘŔŉšőŖŏ ŉŕ�ŖŗŜ�ŘŔŉšőŖŏ

Ŀō�����������ŮŘŔŉšů�ŏŉŕōśŴ

ĳŉŜō�����������ŮŌŚőŖœů�ŕőŔœŴ
őś�ŖŗŜ�ŌŚőŖœőŖŏ ŉŕ�ŖŗŜ�ŌŚőŖœőŖŏ

ŉŚō�ŖŗŜ�ŌŚŉşőŖŏ

ļŐō�śŜŝŌōŖŜś�����������ŮŌŚŉşů�őŖ�ŋŔŉśśŴ
őś�ŖŗŜ�ŌŚŉşőŖŏ
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